0.1 log(x) 10

0} 45 sin, cos, tan

n =n*n =n"2 =1/n «/ﬁ
=n"(1/2) X =log(x) =In(x)
x=1.00 [B2] =log($A2+B$1/100)

0 1 2 3 4 5

1.0{ 0.0000{ 0.0043| 0.0086| 0.0128| 0.0170 0.0212
1.1 0.0414| 0.0453| 0.0492| 0.0531| 0.0569| 0.0607
1.2| 0.0792| 0.0828| 0.0864| 0.0899| 0.0934| 0.0969

sinx® =sin(x* pi() /180)

6)
A=10,000 r% n
0.05% 0.25% 3% 7%
r n n
G=Al+—) X =X"n
100
7)
=rand() [Al..J10]
[Al] =rand() [Al1..J10]
zint(rand()*6)+1

Table[Random[Integer, {0, 1}], {100}]
Table[Random[Integer, {1, 6}], {100}]
Table[Random[], {100}]

=sqrt(n)



